
Name__________________________________________Guided Notes Basics of Rational Functions 

𝑓(𝑥) =
1

𝑥 + 5
 

 
State the y intercept of the function  
 
 
 
State the domain of the function  
 
 
 
 
Draw the vertical asymptote on the graph 
(this is where the denominator is 0) 
 
 
 
Draw the horizontal asymptote  
 
 
 
 
 

 
Complete the related table  

x -6 -5 -1 0 1 

f(x)  
 
 

    

 

  

𝑔(𝑥) =
1

𝑥 − 4
 

 
State the y intercept of the function  
 
 
 
State the domain of the function  
 
 
 
 
Draw the vertical asymptote on the graph 
(this is where the denominator is 0) 
 
 
 
Draw the horizontal asymptote  
 
 
 
 
 

 
Complete the related table  

x -1 0 1 4 5 

g(x)  
 
 

    

 

 

 

 



𝑗(𝑥) =
1

(𝑥 + 1)(𝑥 − 2)
 

 
State the y intercept of the function  
 
 
 
State the domain of the function  
 
 
 
 
Draw the vertical asymptotes on the graph 
(this is where the denominator is 0) 
 
 
 
Draw the horizontal asymptote  
 
 
 
 
 

 
Complete the related table  

x -3 -2 -1 0 1 2 3 

j(x)  
 
 

      

 

  

𝑘(𝑥) =
1

(𝑥 + 2)(𝑥 − 3)
 

 
State the y intercept of the function  
 
 
 
State the domain of the function  
 
 
 
 
Draw the vertical asymptotes on the graph 
(this is where the denominator is 0) 
 
 
 
Draw the horizontal asymptote  
 
 
 
 
 

 
Complete the related table  

x -4 -3 -2 -1 0 1 2 3 

k(x)   
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𝑓(𝑥) =
1

𝑥 − 4
 

 
State the y intercept of the function  
 
 
 
State the domain of the function  
 
 
 
 
Draw the vertical asymptote on the graph 
(this is where the denominator is 0) 
 
 
 
Draw the horizontal asymptote  
 
 
 
 
 

 
Complete the related table  

x -4 -3 -2 -1 0 1 2 3 4 5 

f(x)  
 
 

         

 

  

𝑔(𝑥) =
1

𝑥 + 3
 

 
State the y intercept of the function  
 
 
 
State the domain of the function  
 
 
 
 
Draw the vertical asymptote on the graph 
(this is where the denominator is 0) 
 
 
 
Draw the horizontal asymptote  
 
 
 
 
 

 
Complete the related table  

x -4 -3 -2 -1 0 1 2 3 

g(x)     
 
 

    

 

 

 

 



𝑗(𝑥) =
1

(𝑥)(𝑥 − 2)
 

 
State the y intercept of the function  
 
 
 
State the domain of the function  
 
 
 
 
Draw the vertical asymptotes on the graph 
(this is where the denominator is 0) 
 
 
 
Draw the horizontal asymptote  
 
 
 
 
 

 
Complete the related table  

x -3 -2 -1 0 1 2 3 

j(x)  
 
 

      

 

  

𝑘(𝑥) =
1

(𝑥 + 1)(𝑥 − 4)
 

 
State the y intercept of the function  
 
 
 
State the domain of the function  
 
 
 
 
Draw the vertical asymptotes on the graph 
(this is where the denominator is 0) 
 
 
 
Draw the horizontal asymptote  
 
 
 
 
 

 
Complete the related table  

x -4 -3 -2 -1 0 1 2 3 4 5 

k(x)   
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𝑓(𝑥) =
1

𝑥2 − 4
 

 
State the y intercept of the function  
 
 
 
State the domain of the function  
 
 
 
 
Draw the vertical asymptotes on the graph 
(this is where the denominator is 0) 
 
 
 
Draw the horizontal asymptote  
 
 
 
 
 

 
Complete the related table  

x -4 -3 -2 -1 0 1 2 3 4 5 

f(x)  
 
 

         

 

  

𝑔(𝑥) =
1

𝑥2 + 3𝑥
 

 
State the y intercept of the function  
 
 
 
State the domain of the function  
 
 
 
 
Draw the vertical asymptote on the graph 
(this is where the denominator is 0) 
 
 
 
Draw the horizontal asymptote  
 
 
 
 
 

 
Complete the related table  

x -4 -3 -2 -1 0 1 2 3 

g(x)     
 
 

    

 

 

 

 



𝑗(𝑥) =
1

𝑥2 + 1𝑥 − 2
 

 
State the y intercept of the function  
 
 
 
State the domain of the function  
 
 
 
 
Draw the vertical asymptote on the graph 
(this is where the denominator is 0) 
 
 
 
Draw the horizontal asymptote  
 
 
 
 
 

 
Complete the related table  

x -3 -2 -1 0 1 2 3 

j(x)  
 
 

      

 

  

𝑘(𝑥) =
1

𝑥2 + 1𝑥 − 6
 

 
State the y intercept of the function  
 
 
 
State the domain of the function  
 
 
 
 
Draw the vertical asymptote on the graph 
(this is where the denominator is 0) 
 
 
 
Draw the horizontal asymptote  
 
 
 
 
 

 
Complete the related table  

x -4 -3 -2 -1 0 1 2 3 4 5 

k(x)   
 
 

        

 

 

 

 


